Presentation and Analysis of Inventory

- Presenting inventory on the financial statements is important because inventory is usually the largest current asset (ending inventory) on the balance sheet and the largest expense (cost of goods sold) on the income statement.
Valuing Inventory at the Lower of Cost and Market (LCM)
· When the market value of the inventory falls below its cost, the inventory is written down to the market value in the period during which the decline occurred. 

· Thus the inventory is shown on the balance sheet at the lower of cost and market. 

· LCM is an example of the accounting characteristic of conservatism. 

· Conservatism means that when choosing among alternatives, the best choice is the one that is least likely to overstate assets and net income.

· Market value has recently been defined in Canada as net realizable value, the selling price less any costs required to make the goods ready for sale.
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· LCM is usually applied to individual items after the specific identification or one of the cost flow assumptions has been applied to determine the inventory cost.

· The journal entry to adjust inventory from cost to market using the perpetual inventory method is:


	
	
	Cost of Goods Sold
	XXX
	

	
	
	
Merchandise Inventory
	
	XXX


Cost of Goods Sold is increased, which in turn reduces net income and owner's equity.

Classifying and Reporting Inventory

· When merchandisers purchase their inventory in a form ready for resale to customers only one classification, merchandise inventory is needed.

· When manufacturers produce their inventory there are three common inventory classifications: raw materials, work in process, and finished goods.

· Inventory is shown in the current asset section of the balance sheet. 

In the notes of a company’s financial statements the following information should be included:


(1)
Major inventory classification,

(2)
Method used for valuing inventory,

(3)
The amount of any write-down to net realizable value or reversals of previous write-downs, including the reason why the write-down was reversed.

Analysis
· A delicate balance must be kept between having too little inventory and too much inventory. 

· How quickly a company sells its inventory, or turns it over, is one way to determine whether the company has too much or too little inventory.

Inventory Turnover

The inventory turnover ratio measures the number of times, on average, inventory is sold during the period.

 It is calculated by dividing cost of goods sold by average inventory (of beginning and ending inventory).

Too rapid a turnover may mean lost sales because items are not in stock. 

Too slow a turnover may mean higher handling costs, and possible losses due to spoiled or obsolete goods.
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Inventory turnover




Days Sales in Inventory

The inventory turnover ratio is converted into a period of time.

Days Sales in Inventory is calculated by dividing 365 by inventory turnover.
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Days sales in inventory




